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tan & < cosé < sin@ < cos’ @ < sin?H +sinf-1<0 < —1<sinf < L5,
1c0sf <tand <> cos’H < 2sinf < sin? @ +2sinf-1>0< sind>-1++/2
12 —14+/2 <sin@ < 5
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X(y* = p)+y(x* = p)=5p < (X + y)(xy - p)=5p. A~ 24 g

. X+y=5xy—-p=p:Rl(xy)=041,04), p=2=
(x,y)=(3,2),(2,3), p=3.

. X+y=p, xy—p=5:p(x-D(y-1)=6,#
(x,y)=(34),(43),(27),(7,2), p=x+y=7(9 % &)

. x+y=5p, xy—p=1: RIFIx+y=5p>p+l=Xxy=>X+Vy,&fZ o

Al p=2,38 7.
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d Bi#&d8v 4 n=10s+2

d n®=(10s+2)° =1000s° + 600s* +120s + 87 L i~ #ic ¥ 8 17 s e i - #c
F 4895w £ s=5t+4

d Nn=10s+2=50t+42* 2t=0,1, 2, 3, 4,5

#n=42, 92, 142, 192, 242, 292 #7trin, =292
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51 /CFB=/ZCDB =«
/ECF=/CFB-ZCEF =a /2, ® FICE
w7 > LCBF=/ECF=al2.
F1BAF % ® & » ZFCB=90°,
90°=ZCFB+ ZCBF =a +4%, #7114
o =60°.

BE _sin120°

] b =+/3
712 BC sin30° \/_
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2 E(X) =X+ X" =2x=x(x=1)(x+2), B

X | f(x)
0 0
1 0
2 8
3| 30
-1 2
-2 0
-3 | -12
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0,y) =D+ 2 .+ g8k P 5 13
Ly) Dtz £+ 5d&p 511

(-Ly) =D 2 7+ 28p 59
(2,y) =Dt 2 5 B8P 5 2

(-2,y) =D+ 2 .+ 2P 510
(-3,y) =Dt 2 £+ B#kp 515
(—4,y) =D+ 2 5 24P %13
(-5,y) =D 2 7 28P 5 9
(-6,y) 2D+ 2 5 8P 7
(-7,y) D} 2 5 g:dcp 53
(-8,y) =D 2z 5+ 2#kp 51
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1. n=2% : ] k+1=30, #t12k=29, n=2%,

2. n=2%3% : #130=(k, +1)(k,+1), T ¥ & (K, +1k, +1) che & 4
(15,2),(10,3),(6,5),(5,6) . =71 n=2%3% 2"83* & 2193°% 283Y

3. n=2%3%5% : k +1=5k,+1=3,k, +1=2, n=2°3'5",
o o) ehn b 283757,
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